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Cuadro 19 (continuación 1)/Table 19 (continued 1)
República Dominicana: tablas abreviadas de mortalidada

Dominican Republic: abridged life tables 
a

1960

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.155 0.140  100 000  13 958  90 231 0.829 b 5 024 294 50.2
1 4 0.022 0.085  86 042  7 331  324 091 0.942 c 4 934 063 57.3
5 5 0.003 0.017  78 711  1 355  390 169 0.986 4 609 971 58.6

10 5 0.002 0.010  77 356   789  384 809 0.988 4 219 803 54.6
15 5 0.003 0.015  76 567  1 118  380 041 0.983 3 834 994 50.1
20 5 0.004 0.020  75 449  1 514  373 462 0.978 3 454 953 45.8
25 5 0.005 0.024  73 936  1 780  365 227 0.975 3 081 491 41.7
30 5 0.005 0.026  72 155  1 892  356 045 0.972 2 716 264 37.6
35 5 0.006 0.030  70 263  2 101  346 061 0.967 2 360 219 33.6
40 5 0.007 0.036  68 161  2 451  334 679 0.958 2 014 159 29.5
45 5 0.010 0.048  65 710  3 129  320 727 0.943 1 679 480 25.6
50 5 0.014 0.067  62 581  4 184  302 444 0.921 1 358 753 21.7
55 5 0.019 0.093  58 397  5 424  278 426 0.885 1 056 309 18.1
60 5 0.030 0.140  52 973  7 406  246 352 0.828  777 883 14.7
65 5 0.047 0.210  45 567  9 591  203 861 0.744  531 531 11.7
70 5 0.074 0.313  35 977  11 255  151 746 0.639  327 671 9.1
75 5 0.110 0.431  24 722  10 665  96 946 0.523  175 924 7.1
80 5 0.158 0.558  14 057  7 843  50 676 0.406  78 978 5.6
85 5 0.215 0.674  6 214  4 189  20 595 0.302  28 302 4.6
90 5 0.278 0.769  2 024  1 558  6 228 0.217  7 707 3.8
95 5 0.344 0.841   467   392  1 353 0.085 d  1 479 3.2

100 ω 0.590 1.000   74   74   126   126 1.7
Mujeres/Females

0 1 0.134 0.123  100 000  12 265  91 414 0.845 b 5 320 884 53.2
1 4 0.022 0.083  87 735  7 322  330 890 0.945 c 5 229 470 59.6
5 5 0.003 0.016  80 413  1 271  398 888 0.987 4 898 581 60.9

10 5 0.002 0.009  79 142   751  393 834 0.989 4 499 692 56.9
15 5 0.003 0.013  78 392  1 052  389 328 0.985 4 105 858 52.4
20 5 0.004 0.017  77 340  1 348  383 328 0.981 3 716 530 48.1
25 5 0.004 0.021  75 991  1 601  375 955 0.977 3 333 202 43.9
30 5 0.005 0.024  74 390  1 802  367 447 0.974 2 957 247 39.8
35 5 0.006 0.028  72 588  2 010  357 916 0.970 2 589 800 35.7
40 5 0.007 0.032  70 578  2 292  347 161 0.964 2 231 884 31.6
45 5 0.008 0.040  68 286  2 718  334 635 0.955 1 884 723 27.6
50 5 0.010 0.051  65 568  3 323  319 533 0.937 1 550 088 23.6
55 5 0.016 0.076  62 245  4 714  299 442 0.907 1 230 555 19.8
60 5 0.023 0.111  57 532  6 400  271 659 0.861  931 114 16.2
65 5 0.037 0.170  51 132  8 690  233 935 0.789  659 455 12.9
70 5 0.060 0.261  42 442  11 061  184 558 0.686  425 520 10.0
75 5 0.096 0.387  31 381  12 156  126 515 0.561  240 962 7.7
80 5 0.144 0.522  19 225  10 036  71 035 0.436  114 447 6.0
85 5 0.203 0.651  9 189  5 985  30 982 0.321  43 413 4.7
90 5 0.269 0.758  3 204  2 429  9 948 0.227  12 430 3.9
95 5 0.337 0.834   775   647  2 259 0.090 d  2 483 3.2

100 ω 0.573 1.000   128   128   224   224 1.7

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


